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 At a municipal golf course, it costs each player $32.50 
for one round of golf plus $12.50 for the cart fee.

If x represents the number of golfers who play one 
round of golf with a cart, write an equation which 

represents the total amount of money the golf course 
will earn from these x golfers.

What if they are charged the above amount plus a 
initial fee of $10 for course maintenance each time 

they play? 
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Problem:  A delivery company charges $5 per 
package plus $2 per pound.  Write an equation for 
finding the cost of delivering a package.  Use the 
equation to make a table for the cost of delivering 

packages that weigh 1, 2, 3, 4, and 5 pounds. 

Step 1: Write the equation

           Let p = number of pounds

           Let C = cost

C = ______p + ________  p 
(pounds) C p

c
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 A cell phone company charges a monthly 
fee of $55 plus a .10 charge per text.  Write 
an equation that can be used to find the 
monthly cost, C, for x amount of texts.

  How much will the cell phone company 
charge for 200 texts this month?

If you paid $110 bill this month, how many 
texts did you send?
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It has been observed that a particular plant's growth is 
directly proportional to time. It measured 2 cm when it 

arrived at the nursury and 2.5 cm exactly one week later. If 
the plant continues to grow at this rate, determine the 
function that represents the plant's growth and graph it.
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A car rental charge is $100 per day plus $0.30 per mile 
travelled. Determine the equation of the line that 
represents the daily cost by the number of miles 
travelled and graph it. If a total of 300 miles was 

travelled in one day, how much is the rental company 
going to receive as a payment?
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When digging into the earth, the temperature rises 
according to the following linear equation:

t = 15 + 0.01 h.

t is the increase in temperature in degrees and h is the 
depth in meters. 

Calculate:

1. What the temperature will be at 100 m depth?

2.Based on this equation, at what depth would there be 
a temperature of 100 ºC?
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Work Period

CRCT Workout
Pg. 79 (3-6)
Pg. 80 (1-5)
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MM3 ­ Week 6.doc


Which graph below best represents                                                  y = –3x +4? 
A. 
 INCLUDEPICTURE  \d "https://www.georgiaoas.org/gdoeimages/ma04ma0814_wg0.jpg" \* MERGEFORMATINET 


B. 
C. [image: image2]D. [image: image3]



Which of the following numbers is a solution for the inequality shown below? 
7(2x – 3) ≥ 49

A. 10 
B. 5 
C. 0 

D. –6 



Which line on the graph below has a negative slope? 
[image: image4]



A. A

B. B

                    C. C           

                D. D

Joe, who is the youngest member of the wrestling team at Northwood High School, is 5 years less than one-half the age of the coach. If the coach is n years old, which expression describes Joe's age? 


A. ½ n - 5     


B. 5 – ½ n


 C. 2n + 5


 D. 2n - 5


Put the following equation into function form 

(solve for y):


2x – 3y = 24


A. y = -2x + 8


B. y = 3/2x + 8


C. y = 2/3x – 8


D. y = -2/3x + 8
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